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Two Convex indifference curves :

(1) are parallel to each other.
" (2)vare 1.'shaped.

(3) cannot be parallel to each other.
(4) can intersect with each other.

When quantity demanded for a
commodity rises with a fall in its price,
it is known as :

(1) increase in demand

change in demand

extension in demand

contraction in demand

3)
(C))

In the case of Giffen goods the shape of
price consumption curve :

(1) Positively sloped
(2) Horizontal line
(3) Backward bending
(4) Vertical line

Law of variable proportion is related to :
(1) short-run

(2) long-run

(3) very long-run

(4) very short-run

What will be the price elasticity of
demand on the point where a straight
line demand curve touches price — axis ?

(1) Perfectly Inelastic
(2) Perfectly Elastic
(3) Highly Elastic
(4) Unit Elastic

If there are constant returns to scale,
then the return to a variable factor
would be

(1) constant

(2) increasing

(3) both constant and increasing
(4) decreasing
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" (3) Marshall

If AC is falling, then :
(1) MC is also falling
(2) MC>AC

(3) MC is rising

(4) AC>MC

In case of monopoly which is not true ?.

M 3x-(-3)

) MR=AR(°;1)
(3) AR=MR (1-1

) AR=MR(efJ

A perfect competitive firm gets normal
profit when :

(1) LMC=SMC=P=MR

(2) LAC=SAC=P

(3) LMC=SMC =P

(4) LAC>SAC and LMC=SMC =P

In the theory of firm the concept of
selling cost is introduced by

(1) J.Robinson (2) Chamberlin
(4) Sweezy

In Perfect Competition the long-run

supply curve of the industry is :

(1) Always positively sloped

(2) Positively / negatively sloped or
horizontal depending upon the
cost conditions.

(3) Negatively sloped

(4) Vertical line

When the average product of labour

increases, then marginal product of

labour is

(1) equal to the average product of
labour

(2) greater than the average product of
labour

(3) less than the average product of
labour

(49) minimum
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Below example represents which type
of returns to scale ?

Scale of Production  |Output (Units)
1 Machine + 1 Labour 200
4 Machine + 4 Labour 350

(1) Increasing Returns to Scale
(2) Decreasing Returns to Scale
(3) Constant Returns to Scale
(4) Negative Returns to Scale

Which of the following statements is

not true in context of the relationship

among the cost curves ?

(1) Marginal cost is the addition to
both the total variable cost and the
total cost.

(2) Marginal cost curve, average cost
curve and average variable cost
curve are ‘U’ — shaped.

(3) The average cost curve cuts the
marginal cost curve at its
minimum point.

(4) The average fixed cost curve
continuously decreases as output
increases.

Who was the first to formulate the
concept of consumer’s surplus ?

(1) Dupuit (2) Adam Smith
(3) Pigou (4) Robbins

Indifference curve shows indifferent
behaviour of consumer towards which
of the following ?

(1) Selection of the combination of goods
(2) Consumption of goods
(3) Production of goods

(4) Exchange of goods
08
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What will be the shape of Price
Consumption Curve for Giffen Goods ?
(1) Horizontal

(2) Backward bending

(3) Vertical

(4) Positively sloped straight line

Which of the following is not a

characteristic of Monopolistic

competition ?

(1) Product Differentiation

(2) Firm has partial control over price

(3) Demand curve is downward
sloping

(4) Full utilisation of production
capacity

Which of the following is not a

characteristic of Oligopoly ?

(1) Importance of selling cost

(2) Group Behaviour

(3) Indeterminacy of demand curve

(4) Independent decision” making
power of firm

Output reaction function of a firm in

Cournot Model indicates

(1) Profit maximising output of that
firm given the output level of rival
firm

(2) Profit maximising output of rival
firm given the output level of first
firm :

(3) Joint profit maximising output
level

(4) Both (1) & (2)

In which market the expenditure on
selling cost and advertising is
important ?
(1) Monopolistic competition
(2) Oligopoly
(3) Both Monopolistic competition
and oligopoly
(4) Monopoly
a
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In the short-run at zero level of output
the total cost of production is equal to

(1) Zero

(2) Total Fixed Cost
(3) Total Variable Cost
(4) Average Cost

Which of the following is a collusive
model of oligopoly ?

(1) Cournot Model

(2) Bertrand Model

(3) Price Leadership Model

(4) Kinked Demand Curve Model

Which of the following oligopoly
model is an extension of Cournot’s
model ?

(1) Bertrand Model

(2) Stackelberg Model
(3) Sweezy Model
(4) Chamberlin Model

The minimum value of correlation
coefficient is

(1) Zero
3) 1

(2) -2

o bt

In weighted average of price relative
method the weights are taken as

(1) Base year quantity of goods

(2) Current year quantity of goods

(3) Value of quantities in the current
year '

(4) Value of quantities in base year
08
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Which of the following is true ?

(1) Laspeyre’s Index > Fisher’s Index
= Paasche’s Index

(2) Laspeyre’s Index < Fisher’s Index
< Paasche’s Index

(3)- Laspeyre’s Index > Fisher’s Index
> Paasche’s Index ;

(4) Laspeyre’s Index = Fisher’s Index
= Paasche’s Index

What is the correlation co-efficient
between the two series ?
If following values are given :

Zy=()16,0,=23,0,=27,N=8
(1) (-)0.252 2) (-)0.482
() (-)0.94 @) (=) 0322

Which of the following test is not

satisfied by the Fisher’s Ideal Index

Number ?

(1) Time Reversal Test

(2) Factor Reversal Test

(3) Circular Test

(4) Both Time Reversal Test and
Factor Reversal Test

If the value of variance and arithmetic
mean are 25 and 10 respectively then
the value of co-efficient of variation
will be

(1) 2.5%
3) 25%

2) 50%
4) 250%

A distribution in which the values of
mean, median and mode coincide is
known as :

(1) Skewed Distribution

(2) Symmetrical Distribution

(3) Asymmetrical Distribution

(4) Probability Distribution

If the deviations are taken from actual
mean then the value of square of
deviations will be

(1) less than one

(2) zero '

(3) less than zero

(4) minimum but positive
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Which of the following statement is not

correct related to arithmetic mean ?

(1) It is the most commonly used
average.

(2) Itis based on all the observations.

(3) Itis affected by extreme values.

(4) The sum of deviations of items
from arithmetic mean is always
not equal to zero.

Which of the following central
tendency measure cannot be computed
graphically ?

(1) Arithmetic Mean

(2) Median

(3) Mode

(4) Quartile

What is the arithmetic mean for the
following series ?

Roll 112]|3(4(5[/6|7]|8
Number

Marks 713110(2018|6(7|3
(1) 10 (2)°32

(3) 34 4) 8

What will be the median value of the
iven data :

Age 18 | 20 | 21 25 | 28
No. of| 10 4 16 15 5
Workers

(1) 21 2) 25

(3) 28 4) 18

Which of the following is true for
circular test ?

(1) Py xPypxPyy=1

(2) PpxPigxPg=1

(3) Py xP,xPy=1

(4) Py x Py x Py,

Who is presently the Director General
of WTO ?

(1) Roberto Azevédo

(2) Peter Sutherland

(3) Pascal Lamy

(4) Harry White

08
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39. According to Heckscher-Ohlin Theory,

40.

41.

42.

43.

44.

the cause of international trade between
two countries is
(1) differences in factor prices and
factor abundance '
(2) differences in the quality of
factors :
(3) differences in the quality of goods
(4) differences in the prices of
commodities
Who propounded the theory of
opportunity cost of international trade ?
(1) Adam Smith (2) Heckscher
(3) Heberler (4) J.S.Mill

Which of the following is a
non-economic argument for protection ?
(1) Infant industry argument

(2) Anti-dumping argument

(3) Defense argument

(4) Terms of trade argument

Gross Barter Terms of trade is
measured as

Om Qn
(1) O 100 (2) g 100
Pn Pm
— 4) - x100
3) meIOO 4) an

Which of the following is not a flow
variable ?
(1) Income (2) Saving
(3) Capital 4) Expenditure
Which of the following relation is
incorrect ?
(1) GNP, = NDP,, + Depreciation +
Net factor income from abroad
(2) NNPy. = GNPy + Net indirect
taxes — Depreciation
(3) NDP,,p = GDPp — Depreciation +
~ Net indirect taxes
Net indirect taxes
n .
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If nominal GNP = ¥ 16,000 and Real
GNP = T 15,000, what will be the value
of GNP deflator ?

(1) 106.67
(3) 6.67

@) 93.75
4) 6.25 !

Which of the following item is included
in the estimation of National Income ?

(1) Buying and selling of securities in
the secondary market.

(2) Residential construction investment.

(3) Value of intermediate goods.

(4) Employees’ social security
contribution.

Y =C + 1+ G+ X — M equation gives

(1) GNP (2) NNP

(3) Green GDP  (4) GDP

Which of the following is not included
in the computation of National Income ?

(1) Dividend

(2) Imputed Value of Rent
(3) Royalty

(4) Interest on National Debt

At what price real GDP is calculated ?
(1) Market Price

(2) Constant Price

(3) Administered Price

(4) International Market Price

According to  Absolute  Income
Hypotheses :

(1) Relation between consumption
and income is non-proportional
Relation between' - consumption

and income is proportional

MPC is falling but greater than
APC

APC = MPC

3)
(C))
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S1.

S2.

o3,

54.

SS.

56.

Bandwagon effect is an example of
(1) Ratchet effect

(2) Income effect

(3) Demonstration effect

(4) Snob effect

The life cycle hypothesis on
consumption has been developed by
(1) F.Modigliani

(2) R. Brumberg

(3) A. Ando

(4) All of the above

Which of the following consumption
hypothesis  assumes ir-reversible
relationship of consumption and
income overtime ?

(1) Absolute Income Hypothesis
(2) Relative Income Hypothesis
(3) Permanent Income Hypothesis
(4) Normal Income Hypothesis

According to Milton Friedman the
marginal propensity to consume of the
transitory income is

(1) Zero (2) One

(3) Less than one (4) More than one

Which of the following is not a cause of
cost-push inflation ?

(1) Increase in Wages

(2) Increase in Import Duty

(3) Increase in Subsidy

(4) Increase in prices of Crude Oil

“Too. much money chasing too few
goods.” The above statement is related
to which type of inflation ?

(1) Cost — Push inflation

(2) Demand Pull inflation

(3) Profit Push inflation

(4) Mixed inflation
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58.

59,

60.

61.

62.

~ Which of the following is

Which of the following money is most
liquid and easiest for transaction ?

(1) M, (2) M,
G) M, 4 M,

At liquidity trap stage, elasticity of
speculative demand for money will be
(1) Infinitely elastic

(2) Perfectly inelastic

(3) Unitary elastic

(4) Inelastic

not
associated with Acceleration theory ?
(1) Aftalion (2) Keynes
(3) Clark (4) Frisch

What will be the effect on multiplier
process if marginal propensity to
consume increases in the developed
economy ?

(1) No effect

(2) Proportionately decrease

(3) Decrease

(4) Increase

Excess of expected expenditure over
the available supply of output is known
as

(1) Inflationary Gap

(2) Trade Deficit

(3) Budget Deficit

(4) Adverse Balance of Payment

Kaldor in his trade cycle theory uses :
(1) saving and investment in ex-post
sense

saving and investment in ex-ante
sense

saving in ex-ante and investment
in ex-post sense

saving in ex-post and investment
in ex-ante sense

)
3)
“4)

08
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63.

64.

6S.

- 66.

67.

If an initial investment of ¥ 100 crores
leads to an increase in income by ¥ 500
crores, the value of MPC will be

(1) 0.2 (2) 0.8

3) 09 4) 05

If IS curve is vertical then :

(1) Fiscal policy is completely
ineffective.
(2) Monetary policy is most effective.

3)

Fiscal policy is relatively less
effective than monetary policy.

Fiscal policy is most effective.

Q)

According to Keynes, which of the
affect the
speculative demand for money ?

(1)

following does not
Increasing prices of consumer
goods

(2) Market rate of interest
3)
“4)

Expected rate of interest in future
General attitude of wealth owners
towards speculation -

The inverse relationship between the
wage rate and unemployment rate was
propounded by
(1) Lerner
(3) Phillips

(2) Engel
(4) Leontief

Which of the following is not a phase
of Trade cycle ?
(1) Stability

(3) Depression

(2) Prosperity
(4) Recovery
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68.

69.

70.

71.

72.

Which of the following is a primary
function of a money ?

(1) Base of Banking

(2) Distribution of National Income
(3) Transfer of Assets

(4) Measure of Value

Which of the following is not an
objective of Monetary policy ?

(1)
2)
3)

Full employment
Price stability
Equilibrium
Payment
Balanced Budget

of Balance of

“)

Which of the following is a tool: of -
Monetary policy ?

(1) Increase in GST

(2) Change in Repo Rate

(3) Change in Minimum Support Price
of Corn
4)

Privatisation

Swaran Jayanti Shahri Rozgar Yojana
(SJSRY) has been re-structured by
Ministry of Housing and Urban Poverty
Alleviation, Government of India as :

(1)
2)
3)

Deendayal Antyodaya Yojana
Swavalamban Yojana

Pradhan Mantri Kaushal Vikas
Yojana

@

Naya Savera

According to Economic Review of
2017-18, what is the average size of
Agriculture Holdings (in Hectare) in
Rajasthan ?

(1) 1.15
(3) 225

Q) 3.7
@) 3.07
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73.

74.

75.

76.

77.

78.

79.

(1) Cereals

In the year 2016, the Infant Mortality
Rate in Rajasthan was

(1) 41 per thousand

(2) 34 per thousand

(3) 44 per thousand

(4) 38 per thousand

When did Rajasthan Tourism Unit
Policy 2007 replaced ?

(1) 2015 (2) 2016

(3) 2014 (4) 2017

Which of the following is a base year of
Wholesale Price Index of Rajasthan ?

(1) 1999-2000 (2) 2011-12
(3) 2014-15 (4) 2015-16

Which of the following is not the part
of BHAMASHAHA Yojana ?

(1) Women Empowerment

(2) Financial Inclusion

(3) Social Audit

(4) Payment of subsidy in cash to
beneficiary.

Which of the following project was
launched during Digi Fest in Kota ?
(1) E-MitraPlus (2) i Start

(3) 1Nest (4) Rajmail

Which of the following has the highest
weight in Rajasthan’s Index of

Agricultural production ?
(2) Pulses
(3) Oil-seed (4) Spices

Which of the following is known as
Paper Gold ?

(1) Dollar

(2) Special Drawing Rights
(3) Euro Currency

(4) Euro Dollar
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80.

81.

82.

83.

84.

Which type of the following financial
assistance is not provided by the World
Bank ?

¢y
2)
3)

For moc}emisation of Railways
For power projects

For the development of National

Highways
(4) For improving Balance of Payment

Who invented the Physical Quality of
Life Index in 1979 ?

(1) Robertson
(3) Gibbson

(2) Morris
(4) Douglas

Which of the following is the supreme

authority of the World Trade
Organization ?
(1) Ministerial Conference

General Council

(2)
(3) Council for Trade-related Aspects
of Intellectual Property Rights

(TRIPs)

Committee
Development

of Trade and

(C))

From which year UNDP is publishing the
‘Human Development Report’
continuously ?
ay 199

(3) 1995

) 1990
(4) 2001

In Ricardo’s view, which of the
following was the cause of comparative
costs differences ?

(1) Technological Advancement

(2) Profit differences

(3) Differences in labour costs of
production -

(4) None of the above

08
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85.

86.

87.

88.

89.

Which of the following condition
shows Pareto optimum in production ?

(1) [MRSxy] of consumer A = [MRSXY]
of consumer B

[MRTS, ;] of product X = [MRTS, ]
of product Y

[MRTxy] of firm A= [MRTX),] of
firm B ;
[MRTXY] = [MRSXY] = [MRTS «]

2
G)

4)

According to thé 2011 Census, what
was the female literacy rate in
Rajasthan ?

(1) 61.44%
(3) 52.12%

(2) 458%

(4) 66.11 %
Which of the following is not a cause of
Environmental Degradation ?

(1) Skill Development

(2) Poveriy

(3) Industrialisation

(4) Luxury Life Style

|
In the Domer Model if ‘AI'> oo, then

the economy will face which of the
following phase ?

(1) Stagflation
(3) Boom

(2) Depression
(4) Recovery

Which of the following is not a method
of collecting primary data ?

(1) Questionnaire

(2) Direct Personal Interview

(3) Data published by State Government
(4) Information through correspondent
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90.

o1,

92.

93

Which of the following is not an

essential of sampling ?

(1) Representativeness

(2) Take each item of population

(3) Homogeneity

(4) Adequacy

In which of the following condition

there will be complete crowding out

effect ?

(1) When the LM function is perfectl y
Inelastic.

(2) When the LM function is perfectly
Elastic.

(3) When the IS function is perfectly
Inelastic.

(4) When the IS function is perfectly
Elastic.

Which of the following statement is not

correct ?

(1) The monetary policy operates by
shifting the LM function.

(2) The fiscal policy operates by
shifting the IS function.

If IS function is more elastic and
LM function is less elastic, the
monetary policy is more effective.

3)

If IS function is more elastic and
LM function is less elastic, the
fiscal policy is more effective.

“)

In the Harrod’s model of growth which
of the following is visualised as the
maximum feasible rate of growth ?

(1) Natural Rate of Growth
(2) Warranted Rate of Growth
(3) Actual Rate of Growth

(4) All of the above

08



9%.

9s.

96.

97.

frferfaa § @ w4 @1 aiew 3 feufai
ot R e 2 SEl SISty ST A9
FUR T AR AT EGER ?

(1) G Hisd
(2) @M AlSHA
(3) Gl Arsd

(4) S HTSA

TR y oY x TSR T dy — Sx = 15 8 AT
x @ y *h A HEEERY 1O 0.75 2, Al x
¥ y T ST 1T <1 Hed 1R 7

(1) 045 (2) 094

(3) 0.6 (4) 05

21 YT} ) T aR e T, FH HA 10
%1 A0 9T B a6l TR

(1)

3)

e qurern 3R anfiien fohr < =
gy ) e we H EweEn R R -

(1) afegfd ATevS

) Tamfaa

(@) wefam-de

(4) T FEH AT

19

94.

9s.

96.

97.

Which of the
the

unemplojrment is associated with

following model

considers cases where

balance of payments deficit or _sﬁrplus 2
(1) Mundell Model

(2) Swan Model

(3) Solow Model

(4) Domar Model

If 4y — 5x = 15 is the regression line of
y on x and the co-efficient of correlation
between x and y is 0.75, what is the

value of the regression co-efficient of x

ony?
(1) 045 (2) 0.94
3) 0.6 4 05

In a single throw of two dice, the
probability of getting a total of at least 10

1S::

3
@) 3¢ @)-7
2 1
3) 36 @ 36
The relationship between

environmental quality and economic
development is explained in terms of :
(1) Compensation Criterion

(2) Pigouvian taxes

(3) Hartwick-Solow Rule

(4) Environmental Kuznets Hypothesis



98.

99,

100,

101.

g N utrnm wnFnd ¢
(a) e '

(b)
(©
(d)
(e)

M
3)

e
IR

AR A
fafir srgfopard

a,b,c,de (2) adech

c,e,a,db 4) b,e; a,d,c

st & A W R AR 7
(1) SR IREdd

(2) Savd= garfera i
(3) UfusEs ¥ =Fger giEdy
(4) 3INATE T FAIWS gRT HRg1

“=afaa 79 T T8] € Gehdl, 94 o 98
TR AE I8 fpa a1 2 ?

(1) &aH
(2) YHeEES
3) E
(4) h

At 1 ywifad %@ aet FRE §
I T Hh FRAHHA & Fafd & 7

(1) fres *1 wHfes wrea 3k
AR &

(2) FferTeRal i Susfey T =1
w S

(3) Toreres i forwg v ariraan

(4) Fiferm srgva < wpfa

98.

99,

100.

101.

N0

What is the series of process of learning ?

(a) Barrier

(b) Goal

(c) Motives

(d) Successful attempt

(e) Varied responses

(1) a,b,c,d, e (2) a,d,e,c,b
3) c,e,a,d b (4) b,e,a,d,c

Which process is not in learning ?

(1) Behavioural changes

(2) Life long operated process

(3) Behavioural changes by maturation

(4) learning through practice and
experience

Who said “The individual cannot learn

until he is ready” ?

(1) Hurlock

(2) Thorndike

(3) Gessel
(4) Skinner

Which of the factors affecting learning

is related to learner ?

(1) Teacher’s mental health and
adjustment level

(2) Learner’s level of achievement

motivation

3)

Content mastery of teacher

Nature of learning experiences
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102. Which

103.

104.

105.

of the
characteristic of effective teacher ?

(1) Check the assigned task of the
students carefully

the
participate in teaching-learning

following is a

Motivate students to

2)

process
(3) Give more information
“4)

“Sensation is gate way of knowledge.”

Control the class

Which development is this ?
(1) Language development
(2) Mental development

(3) Emotional development

(4) Physical development

Which environmental factor effects the
social development of adolescence
period ?

(1) Emotions

(2) Intelligence

(3) Influence of the peer group

(4) Physical structure

According to the Moral Development
Theory of Kohelberg, which stage of
the following include in the Post-
conventional level ?

(1)
(2)
3)

Individualism

Interpersonal relationships based
Social contract and individual
rights based

Maintaining social order based

)
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106. In which developmental stage, the

107.

108.

109.

emotional behaviour of a child is like
the speed of storm and thunder ?

(1) Infancy

(2) Childhood

(3) Adolescence

(4) Adulthood

What is the time period of ‘concrete
of

development according to Piaget’s

operational  stage’ cognitive

theory ?

(1) Birth to 2 years
(2) 2yearsto 7 years
(3) 7yearsto 11 years
(4) Above 11 years

When a pigeon provides a set number
of responses and then the trainer offers
a reward. Which type of schedule of
reinforcement is this ?

(1) Continuous reinforcement
schedule
Fixed
schedule

Fixed ratio reinforcement schedule

2) interval  reinforcement
3)

“4)
Who was the promoter of behavioural

Variable reinforcement schedule

principle of learning ?
(1) Kohler (2) Thorndike
(3) Piaget (4) Bruner
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110. Which combination is correct from the

111.

112.

113.

following ?
(1) Theory of operant conditioning —
Skinner

(2)
3)

Theory of Insight learning — Lewin
Humanistic Theory of Learning —
Kohler

(4) Cognitive Theory — Maslow

According to Gagne which is the
highest order of learning complications ?
(1) Concept learning

(2) Problem solving

(3) Chaining

(4) Signal learning

Which of the following is not a
characteristic of learning ?

(1) Learning is a continuous life long
process. -

Learning is a universal process.

helps proper

)
3)

Learning in
adjustment.
Learning is only acquisition of

4)

new knowledge.

Which symptom is found in process of
adjustment ?

(1) Emotional unstability

(2) Frustration

(3) Tension
(4) Brave

behaviour

and problem solving
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114. “Mental health is the ability to make

115.

116.

117.

adequate  adjustments to  the
environment, on the plane of reality.”
This definition
psychologist ?:
(1) Laddell

(2) Kuppuswamy
(3) Headfield

(4) Crow and Crow

is given by which

In which year term “Emotional
Intelligence” was first of all used by
American Psychologist Dr.
Salovey and John D. Mayer ?
(1) 1988

(2) 1991

(3) 1990

(4) 1980

Peter

Which of the following factors is not a
factor for nurturing mental health of
adolescent ?

(1) Family’s calm environment '

(2) Family conflict

(3) Sympathetic behaviour of teacher
(4) Guidance programme

A student makes a target to achieve first

rank in half yearly examination. But

due to competition with other students,

he fails. Not disappointing by this, in

annual

attention, he achieves his target. What

is this situation called ?

(1) Struggle (2) Frustration

(3) Adjustment (4) Maladjustment
08
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118.

119.

120.

121.

122.

Which teaching model is related to
Information Processing ?

(1) Non-directive Model

(2) Social Investigation Model
(3) Basic Teaching Model

(4) Concept Attainment Model

Branching Programmed Instruction is
introduced by

(1) B.F. Skinner
(2) T.F. Gillbert
(3) J. Bruner

(4) N.A. Crowder

Match the following :
A. Graphic aids (i) Bulletin Board
B. Projective aids  (ii)) Map
C. 3 Dimensional (iii) Slide
aids
D. Display board  (iv) Models
aids
Codes :

AR e
(1) (i) @) @v) (@)
() G @) @Gv) @)
(3) () @G) @Gi) @Qv)
@) (iv) Gi) G) @
Which teaching level provide base for
other teaching levels ?
(1) Reflective level of teaching
(2) Understanding level of teaching
(3) Reinforcement level of teaching

(4) Memory level of teaching

When a group of person assemble in a
face-to-face situation and through oral
interaction exchange information or
attempts to reach a decision on shared
problem is called

(1) Workshop

(2) Team Teaching

(3) Panel discussion

(4) Inquiry Approach
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123.

124.

125.

126.

127.

What is the correct process of
communication in easy model ?

(1) Source of communication —>

Decoding — message receiver —
Medium of message

(2) Decoding — En-coding —
message receiver — Feedback

(3) Source of communication —
Medium of message — Message
receiver — Feedback

(4) Feedback — message receiver —
Source of communication —
Decoding

Which of the following is non-impact
printer ?

(1) Dot matrix

(2) Laser Printer

(3) Drum Printer

(4) Daisy wheel

Broadcasting Network is the example
of

(1) Star Topology

(2) Bus Topology

(3) Tree Topology _

(4) Point to Point Topology

Which one is not directly related to
teaching-learning process ?

(1) CALT (2) CBL
(3): CAl (4) CMI

Which of the following is a co-
curricular use of ICT ?

(1) Preparation of Teacher’s salary
(2) Publication school magazine

(3) Preparation of Result and Report
(4) Preparation of Lesson Plan
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132.
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128. Who

129.

130.

131.

132.

has defined Economics as
“Economics is the science which
studies human behaviour as a
relationship between ends and scarce
means which has alternative uses” ?

(2) Adam Smith
(4) Robbins

(1) Samuelson
(3) Marshall

Wantlessness definition of Economics
is given by

(1) Amartya Sen

(2) Vinoba Bhave

(3) Mahatma Gandhi

(4) J.K.Mehta

A capitalist economy is known as

(1) Mixed Economy

(2) Market Economy

(3) Planned Economy

(4) Open Economy

Which of the following statements is
incorrect ?

(1) Production possibility curve is
positively sloped. Rt

(2) Production possibility curve is
negatively sloped.

(3) Economy operates. within the
production possibility curve under
the situation of unemployment.

(4) Aneconomy cannot operate at any
point outside the production
possibility curve.

In a command economy central
problems are solved by the :

(1) Market

(2) Demand and supply

(3) Central Planning Authority
(4) Price Mechanism
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133.

134.

135.

136.

137.

138.

The central problem of an economy

“For whom to produce” is related to

(1) Method of production

(2) Choice of technique

(3) Distribution of income

(4) Determination of an optimum
combination of resources

If the Opportunity Cost is decreasing,
then the production possibility curve
would be

(1) convex to the origin

(2) concave to the origin

(3) downward sloping straight line
(4) upward sloping straight line

Which of ‘the following would not
result in an rightward shift of the
Production Possibility Curve ?

(1) An increase in investments

(2) An increase in unemployment

(3) Discovery of new natural
resources

(4) Increase in efficiency

Which of the following is the cause for
the difference between price and cost ?
(1) Salary (2) Interest

(3) Bonus (4) Profit

Which of the following is Gossen’s first
law ?

(1) Law of Equi Marginal Utility

(2) Price Effect

(3) Law of Returns to Scale

(4) Law of Diminishing Marginal Utility

Which of the following is an
assumption of the theory of consumer
behaviour ?

(1) Consumer has strong preferences.
(2) Each want is not satiable.
(3) Consumer is rational.
(4) Consumer does not use
introspective method.
08
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139. Which of the following is not an

140.

141.
- shows :

142.

143.

assumption of theory of consumer
behaviour in Marshallian analysis ?

(1) Consumer is rational.

(2) Consumer wants to maximize
utility.

Marginal utility of money is
constant.

Marginal utility of money is not
constant.

3)
“4)

The amount of good X that the
consumer has to forego, in order to get
an additional unit of good Y, his total
utility level being the same, is called as
(1) Diminishing marginal utility.

(2) Marginal rate of substitution of Y
for X.
Marginal
substitution.
Marginal rate of substitution of X
for Y.

rate of technical

3)
4)

The falling portion of total utility curve

falling marginal utility
rising marginal utility
zero marginal utility
negative marginal utility

)
()
3)
(C))

Which of the following expression is
incorrect ?

MU
a Z- Uy (@ MRSy,
—-MU Ax

3) & U, (4) MRS,y = Ay

A rational consumer allocates his
income to

(1) Maximise Marginal Utility

(2) Maximise Total Utility

(3) Maximise Goods Purchased

(4) Maximise Average Utility



144. Tl fafeea e & wel & s

145.

146.

Tqo 39 Rufa ® ww & 59 9%
o I &1 Hifes " SR
B

(1) a%g <t hiHa &

(2) IU9IHT il AT &

(3) g1 6 dimra suEifian &
(4) a5 6t Fo1 ST

Tzl i % g, W i g
fore e & wiads &1 ST TTE AT R

(1) 991 Hh

(2) =RUMTHS

(3) HUTHS Afehd Tfewmo= uveg &
e

(4)%3%19%@1@%%
LAy

(1) ek g 1 farfra wmnati 1 e v
Iquie fafim $img @i w
FHET =R 2 |

(2) T awg ! fafira amnat @t {5 ws
IgHIenT fafe g W s
TEaT g |

() wh aeg 1 fafie wEnad @ R
wfoeamgs axgatt it FHwai 7 g
B W TR ST 2

(4) WA I9E T AT IIE & 7
T

30

144. Consumer’s Equilibrium with respect

145.

146.

to any particular product is attained
when the marginal utility of the product

in terms of money be equal to :
(1) I5rice of the product

(2) Income of the consumer
(3) Marginal utility of money
(4) Total utility of the product

According to the Slutsky’s theorem, the
income effect of a price change for all
inferior goods is

(1) Positive

(2) Negative

(3) Negative but more than
substitution effect

(4) Negative and equal to substitution

effect

Engel Curve denotes :

(1) various amounts of a good which a
consumer would be willing to
purchase at various price levels.

various amounts of a good which a

()
consumer would be willing to

purchase at various income levels.

various amounts of a good

3)
purchased when the prices of its

substitutes tend to rise:

(4) the relationship between price

effect and income effect. -
08
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148.
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y

Good Y

ICC

> X

Good X
In the above diagram, if ICC represents
Income Consumption Curve, then it
means that :

(1)
@)
3)

Only X is an inferior good.
Only Y is an inferior good.

X is a normal good and Y is an
inferior good.
Y is a normal good and X is an
inferior good.

@

YV
&
@ S
2 E
e P
A D
—> x
9 Q
Quantity

In the above diagram, the consumer
surplus is represented by the area of

(1) APAE (2) ACPE
(3) ACEA 4) AEOQ

Which of the following is considered as
second law of Gossen ?

M
2)
3)

Law of Demand

Law of equi-marginal utility

Law of diminishing marginal
product

Law of diminishing marginal utility

4)
Who initially propounded the law of
Diminishing Marginal Utility ?

(1) Marshall (2) Adam Smith
(3) Gossen (4) Samuelson
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